HEEBETHS — b e I 1:%4 I H25 I H25 I H5H I
HEFEFENe FEAL E=S %NiIE
B EE3 . A
452  SfTfE{EHESE b () iﬂﬁf O TR |
sEglEE 3 [HREHRA S DA ED Wi e HIRS S O BT 5|
- FEX ()
O | 1 |HUSPEE IR Z0fh
M | 2 [PLEORE =i R E
A e 1 (MO IER S Rk
R i A
[EE I ESE T2 O FHIX S5 E i P SR LAY
S ~ R 3 i PE AR B
T O RIES I e A AT i e o 3
P {1 1) 3 i
FHMER - SRR (TeD|[MLELB I LR [ 9 (435-1233) (350K -+ 4 4 DK L ok
[T S @;‘é%ﬁuz Eha eI ArseRic | ik
g [PORET T RERAE, MR,
RN 7T P NN
1 FEMEROEMNE
FEHM (THE - ) 255V REICT D] ZODOFED) FENE
ERAART, JEREEICBIN L AT =B RE S OB FPEOPR | + (ST T35 dh 2 R I 2 PR A 6
QMRS TEAR IS 5%, U EE S DTE AL % X 5, AT GRLELAMFEAEES BROTEHEWAZAHBAHSE
- ARBER T 25 SRR B A T (R TS MEWA Z A ~eM e HE
= - AL F EAL A A S & O I 0 Frk L B E RS 2 T8k i 195 ChE
w* © N KRS AL A 3T O A B, AT B RS O WK L B4 & st
%
o
SRR 2 5 JE SRR 2 6 G JE SRR 2 7 SE SRR 2 8 JE SRR 2 9 JE
TBRILF R AR LD | - MRKILR A ez L 0 | - KR AR L 0 | - kIR A AR & O | - aKI R P e &2 & O
Jefiple &0 RO R R R e £ 0 s R AR | L0 sl R AR IS L0 ML R R AT (e k0 Fs L RE AR
Al A B Al A B it % B % PR it % B
- AR BRI A 2507 5 | - RN RS AST 5 | - ACHREE S I RA DT 5 | - ARSI A YT 5 55 | - AN HEE S IR & 72517 5
TEPE, FUEARSOFE |FERE, USRS |FERE, FUANRSOFE |EHE, SRRSO SRR |FERE, USRS oR
ES EJE AN 1Y 3 4 % 5t EORONE IR 22 FloH L, W& At
i - A 2 AR T35 ENMEFO TS | - — B EE R T2 0E | - — B MEHE T35 5
N PESAR B B 22 8 e O SERMRE RO | RSB R O | R RIG S B2 2% O
% L0MT O WERI RO |20 O R i EEBME SR |70 WEBME I RIC L. A 2087 5 AR g
L. BEO—H LA L. BREO—HEAH L. BREO—HEAH D% AR L. BR#BO—HMEaM
- R T35 5 A 1 R
RERSFEICO LA
2 HTH¥azx |k
SRR 254 B K 264 i K2 TARSE Sk 284 JEE Sk 294 JEE
YR T P MR T R L] i HL RH L] RH
FER 2,635 2, 344 1, 489 1, 489 1, 489 1, 489
OE (%) - - -43. 5% 0. 0% 0. 0% 0. 0%
& iR 5,453 3,343 2, 695 2, 695 2, 695 2, 695
§ NS IREET T
P INEE 5,453 3,343 2, 695 2, 695 2,695 2, 695
[ Je 3 H 4
T WA
M W fE
z D fh
— AR (BiAE) 2, 635 2,344 1,489 1,489 1,489 1,489
o WA 0.73 0. 44 0. 36 0.36 0. 36 0. 36
PENL e m e
FARTHNR
3 HAFMOFER
FEARA S OVEERCIR T PRR25AEEE | FRR2EFEE | PRRRTAEEE | TR 28AEEE | P29t
. y 3=l 3 3 4 4 5
AR RSB - R g
= FEHENE 3
IR E T T 5] 2tk B 60. 0%| 4F1EBERE 100. 0%
i A AR
) FEii
B | ik e | [k i | G A
s 9=l 13, 500 13, 800 14, 100 14, 400 14, 730
3k AT AR AR (LR ET A —
o FEHRE
al w7 @ ] akEe ] 14, 730] &4 R gL AR AR
o A E H B
) FAk A
Hir ] | kA i | [tk B bk | SRR




